Honors Precalculus BT NS T 06}
Unit #2: Logarithms

Topic: Solving Exponential Equations with and without Logs
Objective: SWBAT solve an exponential equation by using a change of base or logarithms.

Warm Up #3:

A student was asked to solve an exponential equation. The students’ work is shown
below.

Solve: 4%*3 = % Why is the problem considered an
8 exponential equation?

(22)¥+3 = 27

2x+3 =7
2x = 4
X = 2

Explain, in your own words, the mistake(s)
the student made when solving the problem

on the left. What should the actual answer
be?

Assignment(s): Complete practice problems #1 — 16



http://www.google.com/url?sa=i&rct=j&q=&esrc=s&source=images&cd=&cad=rja&uact=8&ved=0CAcQjRw&url=http://homework.allsaintsvaschool.org/&ei=0G5wVYmWNrG0sASEhoCQDw&bvm=bv.94911696,d.aWw&psig=AFQjCNEmOeyft7FSIvJdE1g2NoV2wRRrnQ&ust=1433518069259921

Honors Precalculus BT NS T 06}

Some exponential equations cannot be solved by simply just changing the bases. These
equations need to be solved using logarithms.

Does it matter whether we use a common or natural log? Why/why not?

Example #1: Solve each of the following equations without a calculator.

) @) =70 0 ()" =7

c) 8+ 2e*/3 =12
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Problem Set #3: Solve each of the following exponential equations using an appropriate
method.

1) 54% = = 2) 42 -2 =12
625

3) 150e%9%* = 340 4) 23%~* = g¥~1

5) 32x+1 =15

6) (i)4x+3 +16 = 65

49

7) 16*77 +5 =24 8) 3.4e272" -9 = —4
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10) 875¢ — 5 = 53

11) 4(25x+7) — é

12) —3e%1 46 = —58

13) 4% = 1634

14) 5(18%%) = 26

15) 9"+10 + 3 =81

0 ¢ -7
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